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1. Thisis made up of phospholipid molecules and.
servosasa boundary around the cell The above
Statement talks about which of the following
option?

(A) Cell wall ®) Nucleus
(C) Plasmamambrane (D) Golgiapparatus
Noneofthese

2. The processin which the water diffuses across
the membrane from an area of high water
concentration to an area of low water
concentration is known as:

(A) Diffusion

®) Osmosis

(©) Cell uspiration
) Photosynthesis
() Noneof these.
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3. Givenbelowa U tube:

Y

Tha i doféopieseat the s Ths b s

18 tuke' e Separalodiby & b porsiseble

omtiuas oy llys oot oo T

number of blue dots is higher on left side of the.
PRy

about the movement of water inside the tube?
() The lovel of water will ise on the letsido
(8) The lovol of wates will romain same
(©) The water willstart moving outof the tubo.
(D) Thelevel of water willrse on the right side
() Nonoof theso




[image: image2.jpg]10. Whatare the products of burning of wax?
(A) Waterand carbon dioxide
() Watervapour and carbon dioxide
(€) Waterand carbon monoxide
D) Water vapour and carbon monoxide.
(E) Noneof these.

5. Which one of tho following forces works on an
airplane while lying in the sky?

() Thrust (®) Dg
@ Lt ) Allof these
() Nonoof theso

‘According o Newton's firtlaw a moving object
should keep moving unless there is an
unbalanced force on it. But Steve roll a ball
across the flour, the ball eventually stops, why?
() Itbroaks Nowton' irst law

(®) A force works in the direction of ball

(€) The ball’s temperature has changed.

D) Friction isacting on the ball

E) Noneof these.

7. Match the folowing:
1 Solidmewls A Sodium
2 Solidnonmetal B Bromine
3. Gaseousnonmetal C  Chlorine
4. Liquidnonmetal D Sulphur
(A) 1-3,2:D,3C.4B (B) 1:A,2D,3.C, 4B
(€) 1-A,2:0,3.G, 4B (D] 1-A,2-D,3.C, 4-B
(E) Noneof theso

A student needs to measure the volume of an
iregular shaped stone.
Which one of thefollowing methods he can use
tomeasure the volume o the stone?

(#) Usea scale

() Usoa beaker and wator

(€) Usoan inch tape, and weighing balance

) Use.a weighing balance.

() None of these

9. A student is performing an experiment in
Taboratory hatusesa stong €35 . For reading
e converts the welght ofstone to microgram.
‘Whichaone of the following s the corect answer
after conversion ofwelghtinto microgeam?

() 35000 microgram
(B) 35000000 microgram

s vz |

(©) 350microgram
(E) Nonoofthese

©) 3500 microgram

10. A scientistplants two rows ofogg plants for an
‘experiment. He puts fetilizer in the first row
but does not put ferilzer in tho second rov.
Bath rows of ogg plant recefve same amountof
water and sunlight. The growth of the egs plants
was observed for a period of § months, Which
one of the following is a constant in this
experiment?

(4) Plant height

(B) Row of egg plant with ertlizer
(C) Row ofegg plant without ferilizer
©) Amount of water

(E) Noneof these

11. The below graphic shows a compound
‘microscope with thres objectives. The threo
objectives are of different length. Which one of
the three objectives has the highest magnifying
power?

(4) The objective with minimum length.

®) Tho objective with maximum length.

(€) The objective with intermediate length.

0) Allthe threeobjectives have same magrifying
pow

(B) Magaification of object observed under
microscopo entiely dependson the fine and
coarseadjustments done

12. Animal fibers have many characteristics, One
of the most important characteristic s that they
are resistant to most of the arganic acids, but
they can be damaged by basic substances. Which
one of the following can damage the animal”
fibors?.

(4) Mildalkalies
(€) Mineralacid
(E) Noneof thess

®) Sulphuricacid
() Allof these
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[image: image3.jpg]49, Here s o st of substancos. Group them as
‘metals and non metals. Cadmium, hydrogen,
sulphur,lead, magaesium, radium, halogen
(4) Metals: Cadmium, sulphur, radium. Non

metals Hydrogen, lead, magnesium, halogen
B) Metals: Cadmium, sulphus,radium, halogen.

Non metals: Hydrogen, lead, magnesium.
(C) Motals; Cadmium, magnesium load,radium,

‘Non mtals: Hydrogen, halogen, sulphur
) Metals; Cadmium, sulphur,rodium, lead

Nonmetals: Hydrogen,, magnesium, halogen
() Noneof these

14. Modern world has been facing one of the most
troublesome problems, whichis threatening the
very existence of life on the carth, due to
emission of carbon dioxide Which one of the
following is the largest source of emission of
carbon dioxide in the modern world?

(4) Bumingofcoal (B) Bumingof petrleum
(©) Bumingof diesel D) Industrializaton
() Noneafthese.

15. 1n a class room when many students speak
together we call it noise. Noise makes us fecl
imitated whercas music i a good soother. Why
the noise i so irritaling?

(8) 1t consists of mixture of many different
froquoncies

®) 1 consists of mixturo of many different
froquencies withina cerain range

(©) It froquancy remains constant

(D) There is harmony in the sound produced

() Noneof these

16. Which one of the following colours of light

scattered most by the atmosphere?.
(#) Blue ® Red
(©) Yellow ) Violet

) Noneof these

17. Steve is pushing the table of his study room in
order o rearrange the things. To push the able:
he s applying force on it What kind of force it

(4) Nommal force.

18, Which one of the following frictions occurs
between tationary objects?
(4) Sliding riction  (8) Rollingriction
(© Suticfriction  (0) Fluid frction
) Noneoftheso .

1. What will happen if you shuffle scross a wool
rug and then hold your finger vary closo but
ot in contact with a metal doorknob or
radiator?

(A) Youwillfeelthe shock bocause currentcan
pass through the air in spito of boing an
insulator.

(®) You will not feel the shock because air is
insulator and it is botweon your fingor and
‘motal doorknob or radiator.

(€) Youwilfeel tho shock becausoairis insulator
and it is botween your finger and metal
doorkuob or radiator

) Allofthesa

() Nonoof these

20. As you know that the moon does not have its
‘own heat and light. It reflects the heat of the
‘sun. What percentage of sunlight does the moon
rellect?

™) 12%
© 25%
) Noneof theso

® 15%
) 0%

21, How doesthe procossofthinning help the crops?
) By providing moisture
) By providing nutrition
(©) By providing sunlight
©) Alloftheso
® Nonoofthose

22, The reproduction pattern among livins things
isdifferent. What method do most o the insects
use o continuo their existenco?

(8) Thoy reproduce by spore forma
8) They roproduce by binary fission
(C) Thoy reproduce by soxual roproduction
(D) Allof these

) None of these

(4) Forglobal ecology (B) Forrecreational value
(C) Forfood chain (D) Foraquaticlife

Pay

(©) Applied force' 23, Why coral reefs are protected?

(C) Teasion force.

©) Bolanced force:

) Noneof theso ) Noneof these
REF/0S'10/AGH
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[image: image4.jpg]24. Nucleus, ceniriole, and chloroplasts are the
componentsfacell. Select the option tha best
describesthe ol performed byeach companent
ofthe cel.

(4) Nucleus: Contains genic nformation.
Centriol: Plays an impertant rolo fn cell
division. Chloroplasts: Producas starch.

®) Nucleus; Coversand prolects the clls.
Cantriol: Produces starch.

Chlomoplass: Containsgeneticinformaion.

(©) Nucleus: Instructs ribosomes to form
proteins.

Centriols Contains gonetcinformation.
Chloroplast: Covers and protectsthecel.

(0) Nuclous: Produces starch.

(Centriolo: Covers and protects the clls.
Chloroplasts; Instructs ribosomes to form
protein

() Noneofthese

25. The following graph shows how biomes are
affected by changesin both annval precipitation
and annual average temperatures:

ez eges i)
Inthe preceding graph, what aro the distinguishing
chaacerisics o tropical rainforest?

(A) Highaverago temporature

® Highannualprecipitation

(©) Dryclimate

©) Both Awd B

® Noneof these

26. Given below are the various stagesof ecological
‘succession along wilh ther respective main flora:

Class 8- Page :4 ||

Stage [ Fiora
it None (bare fand)

I Annual grasses

| Sheubs.

V] Birch and cherry trees
V. Oak voodland

Nono (baroland)
Annual rasses

Shiubs

Birch and cherry trees

Osk woodland

ofthe above mentioned stages reprosents the
climax community?

1 (OB
©m o
® v

27. A plant grown in your home has brown leaf
tips; drops lower lcaves, dead root tips, and
willing, Whichof the following sthe main reason
forthis condition of the plant?

(A) Lower night temperature
() Lowintonsity of light
(€) Excossive watcring

©) High solublo salts

(B) Nomoof theso

20, Fourclements namely copper,boror
inc were molded into bricks of sa
‘Aboy then hammers the four bricks.
made from which element wil break casily.
(8) Brick made of copper.

) Brick mada of boron
(©) Brickmado ofslvor
D). Brick madeof zinc:

(€) Noneof these.

25 Ther o e clmanls X ¥ ond 2 X1 0
‘metal, Y is a metalloid, and Z s a non
Siementt 1K, and Zaro koptnsumighiX
will hat faster
Statement IT: I electricity is passed through X, Y
and 7, Z will conduct olectricity very well as
compared toboth X and Y.
Statement 11 X can be drawn into wiros
Statement IV: Y can bo drawn into wires
Statement V: 7 is lustrous in appearance.

Which of the following statements s correct about

the elements X, ¥, and 2?2

REFFOS0/AGH
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D) Statement IV and v
(E) Noncof these.

30, Water is heated in. beaker: H turnsinto water
vapor: Ifchemical formula of waters 1,0, then
whatis the chemical formula o water vapor?
@ H, ® 0,
© Ko, © HO
(8) Noneof these

1. Which of the folloing statements
about the preceding chemical reaction?

correct

hoat

2u + 0, > 20:0

Copper  oxygen copper oxido

(4) Copper combines with oxygen to form
copperoxide

(B) Copperoxide brcaks doswn into copperand
oxygen.

€) Copper broaks down into copper oxide

D) Oxygen combines with copper oxide to form
copper

() Noneof these.

22, Which of the following is an example of
conduction, convetion, and radiation?

o ot

(4) Figure 1 ~convection, figure 2 - radiation,
figure 3~ convection, figure 4 conducti
fgure’ - conduction

®) Figure 1 -conduction, figure - convection,
figuro 3 radition, igure 4 - conduction,
figare 5 -conduction

(€) Figure 1~ conduction, figuro 2 - radiation,

REFA0S'10/AGM

figure 3 - radiation, figure 4 - conduction,

figure 5 - convection

) Figure 1 - conduction, figuro 2 radiation,
figure 3-convection, figure 4 - conduction,
figuro 5 - conduction

(®) Noneof these

93, Cottain human actsities ar altering the nitcogen
‘cycle The use of itcogen-rich fortilizers causes.
‘nutrientloading in waterways as iteates. These
nitrates get washed into sircams and ponds,
Which of the following will occur whes
increased ovel ofnitrogen is availablo as nitrates
o plants? Select any two options)

1. Plants will grow rapidly.
2. Number of herbivores willincrease
3. Plantwill grow slowly.

4. Number of horbivores will decroasa
(®) 10nd 2 ® 2and3
(©) 3and 4 ) 1and3

E) Noneof these

34. Given below is a list of substances and its

density:
Substance Density
Water 10g/ml,
oil 0.80g/mL.
AB 85 g/ml.
Mercury 86 g/

A student fills all these above substances into &
sraduated cylinder Define where the AB will appear
aftr fillingallsubstancas in the graduated cylinder.
(4) AB will appear betsween Ol and Water in
thegraduated cylinder
®) ABwill appear betwoen mercury and Water
inthe graduated cylindor
(€1 AB will appear botwween mercury and Oilin
e graduated cylindor
©) AB will appear above the mercury in the
gradunted cylindor
[E) None ofthese.

5. Nonmetals thatare tend o accept lectrons have
valenco.

) Positive

®) Negativo

(©) Noutral

) Allofthese.
(®) Noneof these




[image: image6.jpg]36, Which one of the following is the lowest rank of
coal?

() Rt
(©) Ligaite
(E) Nonoof these.

®) Anthracite
) Bituminous

37. Which of the following s/ are the characteristics
ofsound?
(&) Pitch
(©) Tmbre
) Noneof these.

®) Itonsity
(D) Allof these

38. Aboyisslapped by another boy. While slapping.
certain forco was used. Slapping is an

application of Newlon's___law ofmotion.
(&) Firstlaw (®) Socondlaw
(€) Thirdlaw ©) Alloftheso.

() Nons o these

Class 8

30, The atomic aumberof whichone of the following.
elementsis twelve?.
(4) Sodium(No)
(®) Potassiom(k)
(€) Magnasium(Mg)
©) Lithium(Li)
(8) None oftheso

40, 1f an element A has 38 electrons and 15
‘neutrons, What is the average atomic mass of
the clement A7

) 38
® 53
(© 40
o 23
(E) Nousof these
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